# **Bid Proof**

Bid Number: 10008610-11-Z

**Bid Title:** General and Agricultural Pest Control Services for the Park & Recreation Department, Community Parks I Division

#### CARTWRIGHT TERMITE & PEST CONTROL N/A Disc Terms - Days: 21 N/ATT Days ARO: Addendum: CAT 02216943 Opt To Renew Pct. (%): N/A 15.00 Vendor ID: Disc Pct. (%): Tax Rate Pct (%): 0 **Section 1** Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final Alcott Elementary School-Park 24 EA \$25.60 \$614.40 \$0.00 \$614.40 4680 Hidalgo Avenue; San Diego, CA 92117-2503 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.93 Cabrillo Heights Park 24 EA \$25.60 \$0.00 \$614.40 \$614.40 8308 Hurlbut Street; San Diego, CA 92123 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 14.15 3 Cadman Elementary School 24 EA \$25.60 \$614.40 \$0.00 \$614.40 4370 Kamloop Avenue; San Diego, CA 92117-4409 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 2.88 Cadman Park 24 EA \$25.60 \$614.40 \$0.00 \$614.40 4280 Avati Drive; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.53 Cliffridge Park 24 EA \$25.60 \$614.40 \$0.00 \$614.40 8311 Cliffridge Avenue; San Diego, CA 92037 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 6.29 **Dusty Rhodes Neighborhood Park** 24 EA \$56.80 \$1,363.20 \$0.00 \$1,363.20 2500 Sunset Cliffs Boulevard; San Diego, CA 92107 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 19.19 East Clairemont Athletic Area 24 EA \$30.00 \$720.00 \$0.00 \$720.00 3451 Mount Acadia Boulevard; San Diego, CA 92111-4504 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.7

## **▶▶▶** CARTWRIGHT TERMITE & PEST CONTROL

Days ARO:

N/A

Disc Terms - Days: 21

N/ATT

Addendum:

					bays Airo.		Disc reinis Days.		Addendam. 1	W1111
	Vendor ID: CAT 02216943				Opt To Renew Pct. (%): $N/A$		Disc Pct. (%):	15.00	Tax Rate Pct (%):	)
Section	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
8	Fletcher School-Birdland Park 7666 Bobolink Way; San Diego, CA 92123-3701 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.4					24 EA	\$25.60	\$614.40	\$0.00	\$614.40
9	Kate Sessions Park 5115 Soledad Road; San Diego, CA 92109 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 19.05					24 EA	\$34.40	\$825.60	\$0.00	\$825.60
10	Kearny Mesa Park 3170 Armstrong Street; San Diego, CA 92111-5703 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 37					24 EA	\$36.80	\$883.20	\$0.00	\$883.20
11	Linda Vista Park (includes Osler Field) 7064 Levant Street; San Diego, CA 92111-6011 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 13					24 EA	\$36.80	\$883.20	\$0.00	\$883.20
12	Mission Bay Youth Fields (Bob McEvoy Fields) 2639 Grand Avenue; San Diego, CA 92109-4859 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 11.47					24 EA	\$25.60	\$614.40	\$0.00	\$614.40
13	Mount Acadia Park 3865 Mount Acadia Boulevard San Diego, CA 92111-2612 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.48					24 EA	\$25.60	\$614.40	\$0.00	\$614.40
14	Mount Etna Park 4741 Mount Etna Drive; San Diego, CA 92117-3943 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.18					24 EA	\$25.60	\$614.40	\$0.00	\$614.40
15	NTC Park 2405 Cushing Road; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 46					24 EA	\$36.80	\$883.20	\$0.00	\$883.20
16	Ocean Beach Athletic Area (Robb Field) 2525 Bacon Street; San Diego, CA 92107-1306 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 95.06					24 EA	\$56.80	\$1,363.20	\$0.00	\$1,363.20

#### CARTWRIGHT TERMITE & PEST CONTROL N/A N/ATT Days ARO: Disc Terms - Days: 21 Addendum: CAT 02216943 Opt To Renew Pct. (%): N/A 15.00 Tax Rate Pct (%): 0 Vendor ID: Disc Pct. (%): Section 1 Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final 17 Presidio Park 24 EA \$21.60 \$518.40 \$0.00 \$518.40 2811 Jackson Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 12.71 18 Serra Mesa Park 24 EA \$34.40 \$825.60 \$0.00 \$825.60 9020 Village Glen Drive; San Diego, CA 92123-2420 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.04 19 Tecolote Park 24 EA \$46.00 \$1,104.00 \$0.00 \$1,104.00 4675 Tecolote Road; San Diego, CA 92110-1564 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 19.78 20 Western Hills Park 24 EA \$25.60 \$0.00 \$614.40 \$614.40 4810 Kane Street; San Diego, CA 92110-2347 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 12.77 21 Capehart Dog Park 24 EA \$25.60 \$614.40 \$0.00 \$614.40 4700 Soledad Mountain Road; San Diego, CA 92109 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2 Section 1 Subtotals: \$16,128.00 \$0.00 \$16,128.00 **Section 2 Item Description** NB NR **Unit Price** Item No. Stock Number Manufacturer **Product Number** Quantity Extension Tax Final Bayview Terrace Elementary School Park 12 EA \$21.60 \$259.20 \$0.00 \$259.20 2445 Fogg Street; San Diego, CA 92109-4855 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 5.6 2 Benito Juarez Elementary School 12 EA \$21.60 \$259.20 \$0.00 \$259.20 2633 Melbourne Drive, San Diego, CA 92123-3535 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5.2 3 Bill Cleator Park 12 EA \$259.20 \$0.00 \$259.20 \$21.60 2312 Famosa Boulevard; San Diego, CA Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 17.35

### **▶▶▶** CARTWRIGHT TERMITE & PEST CONTROL

Days ARO:

N/A

Disc Terms - Days: 21

Addendum:

N/ATT

Vendor ID: CAT 02216943

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

15.00

	Vendor ID. CAT 02210743				Opt 10 Reflew Pct. (%). 11/A		Disc Pct. (%).	13.00	Tax Rate PCI (%). U	
Section 2	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
4	Kelly Street Park 6640 Kelly Street; San Diego, CA 92111-6524 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5					12 EA	\$37.60	\$451.20	\$0.00	\$451.20
5	MacDowell Park 5183 Arvinels Avenue; San Diego, CA 92117-2305 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 3.21					12 EA	\$21.60	\$259.20	\$0.00	\$259.20
6	Mission Heights Park 1716 Westinghouse Street; San Diego, CA 92111-7136 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 9.32					12 EA	\$21.60	\$259.20	\$0.00	\$259.20
7	Murray Ridge Park 8651 Celestine Avenue; San Diego, CA 92123-3432 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 11.09					12 EA	\$21.60	\$259.20	\$0.00	\$259.20
8	North Clairemont Community Park 4421 Bannock Avenue; San Diego, CA 92117-2835 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.79					12 EA	\$21.60	\$259.20	\$0.00	\$259.20
9	Olive Grove Park 6075 Printwood Street; San Diego, CA 92117 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.2					12 EA	\$21.60	\$259.20	\$0.00	\$259.20
10	Point Loma Park 1049 Catalina Boulevard; San Diego, CA 92107-4101 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.79					12 EA	\$21.60	\$259.20	\$0.00	\$259.20
11	Silver Terrace Park 5500 Friars Road; San Diego, CA 92110 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 1.24					12 EA	\$22.00	\$264.00	\$0.00	\$264.00
12	Soledad Park (a portion of) West of Ardath Road and I-5; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2.65					12 EA	\$21.60	\$259.20	\$0.00	\$259.20

#### CARTWRIGHT TERMITE & PEST CONTROL N/A Disc Terms - Days: 21 N/ATT Days ARO: Addendum: CAT 02216943 Opt To Renew Pct. (%): N/A 15.00 Tax Rate Pct (%): 0 Vendor ID: Disc Pct. (%): Section 2 Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final South Clairemont Park \$259.20 13 12 EA \$21.60 \$259.20 \$0.00 3605 Clairemont Drive; San Diego, CA 92117-5941 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.7 \$3,566.40 \$0.00 \$3,566.40 Section 2 Subtotals: **Section 3 Item Description** NB NR Quantity **Unit Price** Tax Item No. Stock Number Manufacturer **Product Number** Extension Final Birdrock Elementary School Turf \$21.60 1 EA \$21.60 \$0.00 \$21.60 1420 Felspar Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 0.93 Cabrillo Elementary School Park 1 EA \$21.60 \$21.60 \$0.00 \$21.60 3051 Canon Street; San Diego, CA 92106-2611 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.16 3 Cabrillo Park North 1 EA \$21.60 \$21.60 \$0.00 \$21.60 3232 Trumbull Street; San Diego, CA 92106-2421 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.21 Cabrillo Park South 1 EA \$21.60 \$21.60 \$0.00 \$21.60 1032 Leroy Street; San Diego, CA 92106-2400 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.1 Collier Park 1 EA \$21.60 \$21.60 \$0.00 \$21.60 2351 Soto Street; San Diego, CA 92107-1481 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 5.45 6 Columbian Chapel 1 EA \$21.60 \$21.60 \$0.00 \$21.60 3963 Conde Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.25 Crown Point Elementary School Turf \$21.60 \$21.60 \$0.00 \$21.60 7 1 EA 5373 La Jolla Hermosa Avenue, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 1.64

### **►►►►** CARTWRIGHT TERMITE & PEST CONTROL

Days ARO:

N/A

Disc Terms - Days: 21

Addendum:

N/ATT

Vendor ID: CAT 02216943

Opt To Renew Pct. (%): N/A

Disc Pct. (%): 15.00

	· ··				Opt 10 Renew 1 ct. (70). 1 1/11		D130 1 Ct. (70).		<u> </u>	
Section 3	3									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
8	Dana Middle School 1775 Chatsworth Avenue; San Diego, CA 92107-3709 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.66					1 EA	\$21.60	\$21.60	\$0.00	\$21.60
9	El Campo Santo Park 2410 San Diego Avenue; San Diego, CA 92110-2836 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.27					1 EA	\$21.60	\$21.60	\$0.00	\$21.60
10	Gershwin Park 3508 Conrad Avenue; San Diego, CA 92117-1702 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.45					1 EA	\$21.60	\$21.60	\$0.00	\$21.60
11	Lindbergh Park 4141 Ashford Street; San Diego, CA 92111-3406 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 8					1 EA	\$21.60	\$21.60	\$0.00	\$21.60
12	Ocean Beach Elementary School 4741 Santa Monica Avenue; San Diego, CA 92107-2208 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.2					1 EA	\$21.60	\$21.60	\$0.00	\$21.60
13	Ocean Beach Park 4726 Santa Monica Avenue; San Diego, CA 92107-2209 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.14					1 EA	\$21.60	\$21.60	\$0.00	\$21.60
14	Pacific Beach Elementary School Turf 4033 Ingraham Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2					1 EA	\$21.60	\$21.60	\$0.00	\$21.60
15	Plumosa Park Plumosa Drive/Chatsworth Boulevard Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.3					1 EA	\$21.60	\$21.60	\$0.00	\$21.60
16	Tweet Street Park 811 ½ Date Street; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 0.99					1 EA	\$21.60	\$21.60	\$0.00	\$21.60

	CARTWRIGHT TERMITE & PEST CONTROL Vendor ID: CAT 02216943				Days ARO: NOPE To Renew Pct. (%): N	N/A N/A	Disc Terms - Days: Disc Pct. (%):	15.00	Addendum: Tax Rate Pct (%):	N/ATT 0
Section 3	3									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Numl	ber Quantity	Unit Price	Extension	Тах	Final
17	Starkey Mini Park 6707 Draper Street; San Diego, CA Contact: Area Manager - 858-581-9716 Estimated Acres (Excluding undeveloped acres): 1.13					1 EA	\$21.60	\$21.60	\$0.00	\$21.60
						Sect	ion 3 Subtotals:	\$367.20	\$0.00	\$367.20
Section 4	4									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Numi	ber Quantity	Unit Price	Extension	Тах	Final
1	Hourly rate for call-out service(s) bees excluding materials.					25 HR	\$50.00	\$1,250.00	\$0.00	\$1,250.00
	Response(s) to Other Requirement  ▶ Minimum Hours: 2									
						Sect	ion 4 Subtotals:	\$1,250.00	\$0.00	\$1,250.00
Section :	5									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Numi	ber Quantity	Unit Price	Extension	Tax	Final
1	Hourly Rate for as needed services at facilities not listed – excluding materials.					75 HR	\$16.75	\$1,256.25	\$0.00	\$1,256.25
	Response(s) to Other Requirement  ▶ Minimum Hours: 2									
						Sect	ion 5 Subtotals:	\$1,256.25	\$0.00	\$1,256.25
					Subtotals for CART	TWRIGHT TERMITE & PE	ST CONTROL:	\$22,567.85	\$0.00	\$22,567.85

Grand Total for CARTWRIGHT TERMITE & PEST CONTROL: \$22,567.85

Extraordinary Labor \_ 0 hours @ \$0.00/hour:

Final Price (w/ Discount): \$19,182.67

Freight:

\$0.00

\$0.00

\$0.00

Miscellaneous Charges:

Days ARO:

N/A

Disc Terms - Days: 20

Addendum:

N/ATT

TEMP-EPIC PE Vendor ID:

Opt To Renew Pct. (%): N/A

12.00 Disc Pct. (%):

					Opt 10 Renew 1 of. (70). 1 1711		D130 1 0t. (70).		Tax Rate 1 of (70).	
Section 1	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Alcott Elementary School-Park 4680 Hidalgo Avenue; San Diego, CA 92117-2503 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.93					24 EA	\$23.00	\$552.00	\$0.00	\$552.00
2	Cabrillo Heights Park 8308 Hurlbut Street; San Diego, CA 92123 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 14.15					24 EA	\$23.00	\$552.00	\$0.00	\$552.00
3	Cadman Elementary School 4370 Kamloop Avenue; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 2.88					24 EA	\$23.00	\$552.00	\$0.00	\$552.00
4	Cadman Park 4280 Avati Drive; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.53					24 EA	\$23.00	\$552.00	\$0.00	\$552.00
5	Cliffridge Park 8311 Cliffridge Avenue; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 6.29					24 EA	\$23.00	\$552.00	\$0.00	\$552.00
6	Dusty Rhodes Neighborhood Park 2500 Sunset Cliffs Boulevard; San Diego, CA 92107 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 19.19					24 EA	\$23.00	\$552.00	\$0.00	\$552.00
7	East Clairemont Athletic Area 3451 Mount Acadia Boulevard; San Diego, CA 92111-4504 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.7					24 EA	\$23.00	\$552.00	\$0.00	\$552.00
8	Fletcher School-Birdland Park 7666 Bobolink Way; San Diego, CA 92123-3701 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.4					24 EA	\$23.00	\$552.00	\$0.00	\$552.00
9	Kate Sessions Park 5115 Soledad Road; San Diego, CA 92109 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 19.05	I				24 EA	\$23.00	\$552.00	\$0.00	\$552.00

Vendor ID:

TEMP-EPIC PE

Days ARO:

N/A

Disc Terms - Days: 20

12.00

N/ATT

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

Tax Rate Pct (%): 0

Addendum:

	Vendor ID. I EIVIT -EI IC I E			Opt 10 Reflew Pct. (%). 14/14		DISC PCL. (%).	12.00	Tax Rate PCt (%). 0	
Section	1								
Item No.	Item Description	Stock Number NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
10	Kearny Mesa Park 3170 Armstrong Street; San Diego, CA 92111-5703 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 37				24 EA	\$23.00	\$552.00	\$0.00	\$552.00
11	Linda Vista Park (includes Osler Field) 7064 Levant Street; San Diego, CA 92111-6011 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 13				24 EA	\$23.00	\$552.00	\$0.00	\$552.00
12	Mission Bay Youth Fields (Bob McEvoy Fields) 2639 Grand Avenue; San Diego, CA 92109-4859 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 11.47				24 EA	\$23.00	\$552.00	\$0.00	\$552.00
13	Mount Acadia Park 3865 Mount Acadia Boulevard San Diego, CA 92111-2612 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.48				24 EA	\$23.00	\$552.00	\$0.00	\$552.00
14	Mount Etna Park 4741 Mount Etna Drive; San Diego, CA 92117-3943 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.18				24 EA	\$23.00	\$552.00	\$0.00	\$552.00
15	NTC Park 2405 Cushing Road; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 46				24 EA	\$23.00	\$552.00	\$0.00	\$552.00
16	Ocean Beach Athletic Area (Robb Field) 2525 Bacon Street; San Diego, CA 92107-1306 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 95.06				24 EA	\$24.00	\$576.00	\$0.00	\$576.00
17	Presidio Park 2811 Jackson Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 12.71				24 EA	\$23.00	\$552.00	\$0.00	\$552.00
18	Serra Mesa Park 9020 Village Glen Drive; San Diego, CA 92123-2420 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.04				24 EA	\$23.00	\$552.00	\$0.00	\$552.00

#### EPIC PEST CONTROL N/A Disc Terms - Days: 20 N/ATT Days ARO: Addendum: TEMP-EPIC PE Opt To Renew Pct. (%): N/A 12.00 Tax Rate Pct (%): 0 Vendor ID: Disc Pct. (%): Section 1 **Unit Price** Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity Extension Tax Final 24 EA \$23.00 \$552.00 19 Tecolote Park \$552.00 \$0.00 4675 Tecolote Road; San Diego, CA 92110-1564 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 19.78 20 Western Hills Park 24 EA \$23.00 \$552.00 \$0.00 \$552.00 4810 Kane Street; San Diego, CA 92110-2347 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 12.77 21 Capehart Dog Park 24 EA \$23.00 \$552.00 \$0.00 \$552.00 4700 Soledad Mountain Road; San Diego, CA 92109 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2 \$0.00 \$11,616.00 \$11,616.00 Section 1 Subtotals: **Section 2** Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final Bayview Terrace Elementary School Park 12 EA \$35.00 \$420.00 \$0.00 \$420.00 2445 Fogg Street; San Diego, CA 92109-4855 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 5.6 2 Benito Juarez Elementary School 12 EA \$35.00 \$420.00 \$0.00 \$420.00 2633 Melbourne Drive, San Diego, CA 92123-3535 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5.2 Bill Cleator Park 12 EA \$43.00 \$516.00 \$0.00 \$516.00 2312 Famosa Boulevard; San Diego, CA Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 17.35 Kelly Street Park 12 EA \$35.00 \$420.00 \$0.00 \$420.00 6640 Kelly Street; San Diego, CA 92111-6524 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5 MacDowell Park 12 EA \$35.00 \$420.00 \$0.00 \$420.00 5183 Arvinels Avenue; San Diego, CA 92117-2305 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 3.21

Days ARO:

N/A

Disc Terms - Days: 20

Addendum:

N/ATT

Vendor ID: TEMP-EPIC PE

Opt To Renew Pct. (%): N/A

Disc Pct. (%): 12.00

	vendor ID: TEIVIF-EFIC FE				Opt 16 Renew Pct. (%): N/A		DISC Pct. (%):	12.00	Tax Rate Pct (%): U	
Section	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
6	Mission Heights Park 1716 Westinghouse Street; San Diego, CA 92111-7136 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 9.32					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
7	Murray Ridge Park 8651 Celestine Avenue; San Diego, CA 92123-3432 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 11.09					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
8	North Clairemont Community Park 4421 Bannock Avenue; San Diego, CA 92117-2835 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.79					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
9	Olive Grove Park 6075 Printwood Street; San Diego, CA 92117 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.2					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
10	Point Loma Park 1049 Catalina Boulevard; San Diego, CA 92107-4101 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.79					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
11	Silver Terrace Park 5500 Friars Road; San Diego, CA 92110 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 1.24					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
12	Soledad Park (a portion of) West of Ardath Road and I-5; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2.65					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
13	South Clairemont Park 3605 Clairemont Drive; San Diego, CA 92117-5941 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.7					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
						Sect	tion 2 Subtotals:	\$5,556.00	\$0.00	\$5,556.00

Days ARO:

N/A

Disc Terms - Days: 20

12.00

Addendum:

N/ATT

Vendor ID: TEMP-EPIC PE

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

	Vendor ID. I ENTI -EL I C I E		<u> </u>	ot to Reflew Fct. (%). TV/A		DISC PCI. (%).	12.00	Tax Rate PCI (%). 0	
Section 3	3								
Item No.	Item Description	Stock Number NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Birdrock Elementary School Turf 1420 Felspar Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 0.93				1 EA	\$35.00	\$35.00	\$0.00	\$35.00
2	Cabrillo Elementary School Park 3051 Canon Street; San Diego, CA 92106-2611 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.16				1 EA	\$35.00	\$35.00	\$0.00	\$35.00
3	Cabrillo Park North 3232 Trumbull Street; San Diego, CA 92106-2421 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.21				1 EA	\$35.00	\$35.00	\$0.00	\$35.00
4	Cabrillo Park South 1032 Leroy Street; San Diego, CA 92106-2400 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.1				1 EA	\$25.00	\$25.00	\$0.00	\$25.00
5	Collier Park 2351 Soto Street; San Diego, CA 92107-1481 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 5.45				1 EA	\$35.00	\$35.00	\$0.00	\$35.00
6	Columbian Chapel 3963 Conde Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.25				1 EA	\$25.00	\$25.00	\$0.00	\$25.00
7	Crown Point Elementary School Turf 5373 La Jolla Hermosa Avenue, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 1.64				1 EA	\$35.00	\$35.00	\$0.00	\$35.00
8	Dana Middle School 1775 Chatsworth Avenue; San Diego, CA 92107-3709 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.66				1 EA	\$35.00	\$35.00	\$0.00	\$35.00
9	El Campo Santo Park 2410 San Diego Avenue; San Diego, CA 92110-2836 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.27				1 EA	\$25.00	\$25.00	\$0.00	\$25.00

Days ARO:

N/A

Disc Terms - Days: 20

12.00

Addendum:

N/ATT

Vendor ID: TEMP-EPIC PE

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

Vendorid. TEM EFFETE				Opt To Reflew Pct. (%). 13/11		DISC FCI. (70).	12.00	Tax Nate FCt (70).	
3									
Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
Gershwin Park 3508 Conrad Avenue; San Diego, CA 92117-1702 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.45					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
Lindbergh Park 4141 Ashford Street; San Diego, CA 92111-3406 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 8					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
Ocean Beach Elementary School 4741 Santa Monica Avenue; San Diego, CA 92107-2208 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.2					1 EA	\$25.00	\$25.00	\$0.00	\$25.00
Ocean Beach Park 4726 Santa Monica Avenue; San Diego, CA 92107-2209 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.14					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
Pacific Beach Elementary School Turf 4033 Ingraham Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
Plumosa Park Plumosa Drive/Chatsworth Boulevard Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.3					1 EA	\$25.00	\$25.00	\$0.00	\$25.00
Tweet Street Park 811 ½ Date Street; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 0.99					1 EA	\$25.00	\$25.00	\$0.00	\$25.00
Starkey Mini Park 6707 Draper Street; San Diego, CA Contact: Area Manager - 858-581-9716 Estimated Acres (Excluding undeveloped acres): 1.13					1 EA	\$25.00	\$25.00	\$0.00	\$25.00
					Sect	tion 3 Subtotals:	\$525.00	\$0.00	\$525.00
	Gershwin Park 3508 Conrad Avenue; San Diego, CA 92117-1702 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.45  Lindbergh Park 4141 Ashford Street; San Diego, CA 92111-3406 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 8  Ocean Beach Elementary School 4741 Santa Monica Avenue; San Diego, CA 92107-2208 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.2  Ocean Beach Park 4726 Santa Monica Avenue; San Diego, CA 92107-2209 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.14  Pacific Beach Elementary School Turf 4033 Ingraham Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2  Plumosa Park Plumosa Drive/Chatsworth Boulevard Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.3  Tweet Street Park 811 ½ Date Street; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 0.99  Starkey Mini Park 6707 Draper Street; San Diego, CA Contact: Area Manager - 858-581-9716	Gershwin Park 3508 Conrad Avenue; San Diego, CA 92117-1702 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.45  Lindbergh Park 4141 Ashford Street; San Diego, CA 92111-3406 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 8  Ocean Beach Elementary School 4741 Santa Monica Avenue; San Diego, CA 92107-2208 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.2  Ocean Beach Park 4726 Santa Monica Avenue; San Diego, CA 92107-2209 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.14  Pacific Beach Elementary School Turf 4033 Ingraham Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2  Plumosa Park Plumosa Park Plumosa Drive/Chatsworth Boulevard Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.3  Tweet Street Park 811 ½ Date Street; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 0.99  Starkey Mini Park 6707 Draper Street; San Diego, CA Contact: Area Manager - 858-581-9716	Item Description	Stock Number   NB NR   Manufacturer	Stock Number   NB NR   Manufacturer   Product Number   Gershwin Park   3508 Conrad Avenue; San Diego, CA 92117-1702   Contact: Area Manager - (858) 581-9919   Estimated Acres (Excluding undeveloped acres): 5.45   Lindbergh Park   4141 Ashford Street; San Diego, CA 92111-3406   Contact: Area Manager - (858) 573-1407   Estimated Acres (Excluding undeveloped acres): 8   Cocan Beach Elementary School   4741 Santa Monica Avenue; San Diego, CA 92107-2208   Contact: Area Manager - (619) 531-1528   Estimated Acres (Excluding undeveloped acres): 1.2   Cocan Beach Park   4726 Santa Monica Avenue; San Diego, CA 92107-2209   Contact: Area Manager - (619) 531-1528   Estimated Acres (Excluding undeveloped acres): 1.14   Pacific Beach Elementary School Turf   4033 Ingraham Street, San Diego, CA Contact: Area Manager - (859) 581-9716   Contact: Grounds Maintenance Manager - (619) 871-1528   Estimated Acres (Excluding undeveloped acres): 2   Plumosa Park   Plumosa Drive/Chatsworth Boulevard   Contact: Area Manager - (619) 531-1528   Estimated Acres (Excluding undeveloped acres): 1.3   Tweet Street Park   811 ½ Date Street; San Diego, CA 92101   Contact: Grounds Maintenance Manager - (619) 871-1863   Estimated Acres (Excluding undeveloped acres): 0.99   Starkey Mini Park   6707 Draper Street; San Diego, CA Contact: Area Manager - 858-881-9716	Stock Number   NB NR   Manufacturer   Product Number   Quantity	No.   No.	Item Description	No.   No.

	EPIC PEST CONTROL  /endor ID: TEMP-EPIC PE				Days ARO: $N/A$ Opt To Renew Pct. (%): $N/A$		Disc Terms - Days: Disc Pct. (%):	20 12.00	Addendum: Tax Rate Pct (%):	N/ATT 0
Section 4	4									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly rate for call-out service(s) bees excluding materials.					25 HR	\$95.00	\$2,375.00	\$0.00	\$2,375.00
	Response(s) to Other Requirement									
	▶ Minimum Hours: 1									
						Sect	ion 4 Subtotals:	\$2,375.00	\$0.00	\$2,375.00
Section 5	5									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly Rate for as needed services at facilities not listed – excluding materials.					75 HR	\$65.00	\$4,875.00	\$0.00	\$4,875.00
	Response(s) to Other Requirement									
	▶ Minimum Hours: 1									
						Sect	ion 5 Subtotals:	\$4,875.00	\$0.00	\$4,875.00
								404.047.00	40.00	00404704

\$24,947.00 \$24,947.00 **Subtotals for EPIC PEST CONTROL:** \$0.00

> Miscellaneous Charges: \$0.00

> > Freight: \$0.00

Extraordinary Labor \_ 0 hours @ \$0.00/hour: \$0.00

\$24,947.00 **Grand Total for EPIC PEST CONTROL:** 

> \$21,953.36 Final Price (w/ Discount):

## **▶▶▶** HOMETEAM PEST DEFENSE, INC

Days ARO:

N/A

Disc Terms - Days: 30

0.00

Addendum:

N/ATT

Vendor ID: SUP 02709921

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

Item Description  Alcott Elementary School-Park 4680 Hidalgo Avenue; San Diego, CA 92117-2503 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.93	Stock Number NB	NR Man	ufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
Alcott Elementary School-Park 4680 Hidalgo Avenue; San Diego, CA 92117-2503 Contact: Area Manager – (858) 581-9919			ufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
4680 Hidalgo Avenue; San Diego, CA 92117-2503 Contact: Area Manager – (858) 581-9919									
					24 EA	\$45.00	\$1,080.00	\$0.00	\$1,080.00
Cabrillo Heights Park 8308 Hurlbut Street; San Diego, CA 92123 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 14.15					24 EA	\$45.00	\$1,080.00	\$0.00	\$1,080.00
Cadman Elementary School 4370 Kamloop Avenue; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 2.88					24 EA	\$45.00	\$1,080.00	\$0.00	\$1,080.00
Cadman Park 4280 Avati Drive; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.53					24 EA	\$45.00	\$1,080.00	\$0.00	\$1,080.00
Cliffridge Park 8311 Cliffridge Avenue; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 6.29					24 EA	\$55.00	\$1,320.00	\$0.00	\$1,320.00
Dusty Rhodes Neighborhood Park 2500 Sunset Cliffs Boulevard; San Diego, CA 92107 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 19.19					24 EA	\$75.00	\$1,800.00	\$0.00	\$1,800.00
East Clairemont Athletic Area 3451 Mount Acadia Boulevard; San Diego, CA 92111-4504 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.7					24 EA	\$45.00	\$1,080.00	\$0.00	\$1,080.00
Fletcher School-Birdland Park 7666 Bobolink Way; San Diego, CA 92123-3701 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.4					24 EA	\$45.00	\$1,080.00	\$0.00	\$1,080.00
Kate Sessions Park 5115 Soledad Road; San Diego, CA 92109 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 19.05					24 EA	\$50.00	\$1,200.00	\$0.00	\$1,200.00
	Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 14.15  Cadman Elementary School 4370 Kamloop Avenue; San Diego, CA 92117-4409 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 2.88  Cadman Park 4280 Avati Drive; San Diego, CA 92117-4409 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.53  Cliffridge Park 8311 Cliffridge Avenue; San Diego, CA 92037 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 6.29  Dusty Rhodes Neighborhood Park 2500 Sunset Cliffs Boulevard; San Diego, CA 92107 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 19.19  East Clairemont Athletic Area 3451 Mount Acadia Boulevard; San Diego, CA 92111-4504 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.7  Fletcher School-Birdland Park 7666 Bobolink Way; San Diego, CA 92123-3701 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.4  Kate Sessions Park 5115 Soledad Road; San Diego, CA 92109 Contact: Area Manager - (858) 581-9716	8308 Hurlbut Street; San Diego, CA 92123 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 14.15  Cadman Elementary School 4370 Kamloop Avenue; San Diego, CA 92117-4409 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 2.88  Cadman Park 4280 Avati Drive; San Diego, CA 92117-4409 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.53  Cliffridge Park 8311 Cliffridge Avenue; San Diego, CA 92037 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 6.29  Dusty Rhodes Neighborhood Park 2500 Sunset Cliffs Boulevard; San Diego, CA 92107 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 19.19  East Clairemont Athletic Area 3451 Mount Acadia Boulevard; San Diego, CA 92111-4504 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.7  Fletcher School-Birdland Park 7666 Bobolink Way; San Diego, CA 92123-3701 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.4  Kate Sessions Park 5115 Soledad Road; San Diego, CA 92109 Contact: Area Manager - (858) 581-9716	8308 Hurlbut Street; San Diego, CA 92123 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 14.15  Cadman Elementary School 4370 Kamloop Avenue; San Diego, CA 92117-4409 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 2.88  Cadman Park 4280 Avati Drive; San Diego, CA 92117-4409 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.53  Cliffridge Park 8311 Cliffridge Avenue; San Diego, CA 92037 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 6.29  Dusty Rhodes Neighborhood Park 2500 Sunset Cliffs Boulevard; San Diego, CA 92107 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 19.19  East Clairemont Athletic Area 3451 Mount Acadia Boulevard; San Diego, CA 92111-4504 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.7  Fletcher School-Birdland Park 7666 Bobolink Way; San Diego, CA 92123-3701 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.4  Kate Sessions Park 5115 Soledad Road; San Diego, CA 92109 Contact: Area Manager - (858) 581-9716	8308 Hurlbut Street; San Diego, CA 92123 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 14.15  Cadman Elementary School 4370 Kamloop Avenue; San Diego, CA 92117-4409 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 2.88  Cadman Park 4280 Avati Drive; San Diego, CA 92117-4409 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.53  Cliffridge Park 8311 Cliffridge Avenue; San Diego, CA 92037 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 6.29  Dusty Rhodes Neighborhood Park 2500 Sunset Cliffs Boulevard; San Diego, CA 92107 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 19.19  East Clairemont Athletic Area 3451 Mount Acadia Boulevard; San Diego, CA 92111-4504 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.7  Fletcher School-Birdland Park 7666 Bobolink Way; San Diego, CA 92123-3701 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.4  Kate Sessions Park 5115 Soledad Road; San Diego, CA 92109 Contact: Area Manager - (858) 581-9716	8308 Huribut Street; San Diego, CA 92123 Contact: Area Manager (868) 573-1407 Estimated Acres (Excluding undeveloped acres): 14.15  Cadman Elementary School 4370 Kamloop Avenue; San Diego, CA 92117-4409 Contact: Area Manager (868) 581-9919 Estimated Acres (Excluding undeveloped acres): 2.88  Cadman Park 4280 Avait Drive; San Diego, CA 92117-4409 Contact: Area Manager (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.53  Cliffridge Park 8311 Cliffridge Avenue; San Diego, CA 92037 Contact: Area Manager (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 6.29  Dusty Rhodes Neighborhood Park 2500 Sunset Cliffs Boulevard; San Diego, CA 92107 Contact: Area Manager (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 19.19  East Clairemont Athletic Area 3451 Mount Acadia Boulevard; San Diego, CA 92111-4504 Contact: Area Manager (868) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.7  Fletcher School-Birdland Park 7666 Bobolink Way; San Diego, CA 92123-3701 Contact: Area Manager (868) 571-1407 Estimated Acres (Excluding undeveloped acres): 7.4  Kate Sessions Park 5115 Soledad Road; San Diego, CA 92109 Contact: Area Manager (868) 581-9716	8308 Hurbut Street; San Diego, CA 92123   Contact: Area Manager (-888) 573-1407	8308 Hurbut Street; San Diego, CA 92123	8308 Hulfutu Street; San Diego, CA 92123	8308 Hulbut Street; San Diego, CA 92123

## **→→→** *HOMETEAM PEST DEFENSE, INC*

Days ARO:

N/A

Disc Terms - Days: 30

Disc Pct. (%):

Addendum:

N/ATT

Vendor ID: SUP 02709921

Opt To Renew Pct. (%): N/A

0.00

Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
10	Kearny Mesa Park 3170 Armstrong Street; San Diego, CA 92111-5703 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 37					24 EA	\$75.00	\$1,800.00	\$0.00	\$1,800.00
11	Linda Vista Park (includes Osler Field) 7064 Levant Street; San Diego, CA 92111-6011 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 13					24 EA	\$50.00	\$1,200.00	\$0.00	\$1,200.00
12	Mission Bay Youth Fields (Bob McEvoy Fields) 2639 Grand Avenue; San Diego, CA 92109-4859 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 11.47					24 EA	\$50.00	\$1,200.00	\$0.00	\$1,200.00
13	Mount Acadia Park 3865 Mount Acadia Boulevard San Diego, CA 92111-2612 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.48					24 EA	\$45.00	\$1,080.00	\$0.00	\$1,080.00
14	Mount Etna Park 4741 Mount Etna Drive; San Diego, CA 92117-3943 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.18					24 EA	\$45.00	\$1,080.00	\$0.00	\$1,080.00
15	NTC Park 2405 Cushing Road; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 46					24 EA	\$75.00	\$1,800.00	\$0.00	\$1,800.00
16	Ocean Beach Athletic Area (Robb Field) 2525 Bacon Street; San Diego, CA 92107-1306 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 95.06					24 EA	\$75.00	\$1,800.00	\$0.00	\$1,800.00
17	Presidio Park 2811 Jackson Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 12.71					24 EA	\$45.00	\$1,080.00	\$0.00	\$1,080.00
18	Serra Mesa Park 9020 Village Glen Drive; San Diego, CA 92123-2420 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.04					24 EA	\$45.00	\$1,080.00	\$0.00	\$1,080.00

#### HOMETEAM PEST DEFENSE, INC N/A Disc Terms - Days: 30 N/ATT Days ARO: Addendum: SUP 02709921 Opt To Renew Pct. (%): N/A 0.00 Tax Rate Pct (%): 0 Vendor ID: Disc Pct. (%): Section 1 Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final 24 EA 19 Tecolote Park \$45.00 \$1,080.00 \$0.00 \$1,080.00 4675 Tecolote Road; San Diego, CA 92110-1564 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 19.78 20 Western Hills Park 24 EA \$45.00 \$1,080.00 \$0.00 \$1,080.00 4810 Kane Street; San Diego, CA 92110-2347 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 12.77 21 Capehart Dog Park 24 EA \$35.00 \$840.00 \$0.00 \$840.00 4700 Soledad Mountain Road; San Diego, CA 92109 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2 \$0.00 \$25,920.00 \$25,920.00 Section 1 Subtotals: **Section 2** Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final Bayview Terrace Elementary School Park \$45.00 \$540.00 \$0.00 \$540.00 12 EA 2445 Fogg Street; San Diego, CA 92109-4855 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 5.6 2 Benito Juarez Elementary School 12 EA \$45.00 \$540.00 \$0.00 \$540.00 2633 Melbourne Drive, San Diego, CA 92123-3535 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5.2 Bill Cleator Park 12 EA \$50.00 \$600.00 \$0.00 \$600.00 2312 Famosa Boulevard; San Diego, CA Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 17.35 Kelly Street Park 12 EA \$40.00 \$480.00 \$0.00 \$480.00 6640 Kelly Street; San Diego, CA 92111-6524 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5 MacDowell Park 12 EA \$35.00 \$420.00 \$0.00 \$420.00 5183 Arvinels Avenue; San Diego, CA 92117-2305 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 3.21

## **→→→→** *HOMETEAM PEST DEFENSE, INC*

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

Vendor ID: SU

SUP 02709921

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

0.00

2									
Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
Mission Heights Park 1716 Westinghouse Street; San Diego, CA 92111-7136 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 9.32					12 EA	\$50.00	\$600.00	\$0.00	\$600.00
Murray Ridge Park 8651 Celestine Avenue; San Diego, CA 92123-3432 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 11.09					12 EA	\$40.00	\$480.00	\$0.00	\$480.00
North Clairemont Community Park 4421 Bannock Avenue; San Diego, CA 92117-2835 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.79					12 EA	\$45.00	\$540.00	\$0.00	\$540.00
Olive Grove Park 6075 Printwood Street; San Diego, CA 92117 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.2  Point Loma Park					12 EA	\$40.00	\$480.00	\$0.00	\$480.00
Estimated Acres (Excluding undeveloped acres): 9.2					12 EA	\$40.00	\$480.00	\$0.00	\$480.00
Silver Terrace Park 5500 Friars Road; San Diego, CA 92110 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 1.24					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
Soledad Park (a portion of) West of Ardath Road and I-5; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2.65					12 EA	\$40.00	\$480.00	\$0.00	\$480.00
South Clairemont Park 3605 Clairemont Drive; San Diego, CA 92117-5941 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.7					12 EA	\$45.00	\$540.00	\$0.00	\$540.00
					Section	on 2 Subtotals:	\$6,600.00	\$0.00	\$6,600.00
	Mission Heights Park 1716 Westinghouse Street; San Diego, CA 92111-7136 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 9.32  Murray Ridge Park 8651 Celestine Avenue; San Diego, CA 92123-3432 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 11.09  North Clairemont Community Park 4421 Bannock Avenue; San Diego, CA 92117-2835 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.79  Olive Grove Park 6075 Printwood Street; San Diego, CA 92117 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.2  Point Loma Park 1049 Catalina Boulevard; San Diego, CA 92107-4101 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.79  Silver Terrace Park 5500 Friars Road; San Diego, CA 92110 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 1.24  Soledad Park (a portion of) West of Ardath Road and I-5; San Diego, CA 92037 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2.65  South Clairemont Park 3605 Clairemont Drive; San Diego, CA 92117-5941 Contact: Area Manager - (858) 581-9919	Mission Heights Park 1716 Westinghouse Street; San Diego, CA 92111-7136 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 9.32  Murray Ridge Park 8651 Celestine Avenue; San Diego, CA 92123-3432 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 11.09  North Clairemont Community Park 4421 Bannock Avenue; San Diego, CA 92117-2835 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.79  Olive Grove Park 6075 Printwood Street; San Diego, CA 92117 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.2  Point Loma Park 1049 Catalina Boulevard; San Diego, CA 92107-4101 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.79  Silver Terrace Park 5500 Friars Road; San Diego, CA 92110 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 1.24  Soledad Park (a portion of) West of Ardath Road and I-5; San Diego, CA 92037 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2.65  South Clairemont Park 3605 Clairemont Drive; San Diego, CA 92117-5941 Contact: Area Manager - (858) 581-9919	Mission Heights Park 1716 Westinghouse Street; San Diego, CA 92111-7136 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 9.32  Murray Ridge Park 8651 Celestine Avenue; San Diego, CA 92123-3432 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 11.09  North Clairemont Community Park 4421 Bannock Avenue; San Diego, CA 92117-2835 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.79  Olive Grove Park 6075 Printwood Street; San Diego, CA 92117 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.2  Point Loma Park 1049 Catalina Boulevard; San Diego, CA 92107-4101 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.79  Silver Terrace Park 500 Friars Road; San Diego, CA 92110 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 1.24  Soledad Park (a portion of) West of Ardath Road and I-5; San Diego, CA 92037 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2.65  South Clairemont Park 3605 Clairemont Drive; San Diego, CA 92117-5941 Contact: Area Manager - (858) 581-9919	Mission Heights Park 1716 Westinghouse Street; San Diego, CA 92111-7136 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 9.32  Murray Ridge Park 8651 Celestine Avenue; San Diego, CA 92123-3432 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 11.09  North Clairemont Community Park 4421 Bannock Avenue; San Diego, CA 92117-2835 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.79  Olive Grove Park 6075 Printwood Street; San Diego, CA 92117 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.2  Point Loma Park 1049 Catalina Boulevard; San Diego, CA 92107-4101 Contact: Area Manager - (819) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.79  Silver Terrace Park 5500 Friars Road; San Diego, CA 92110 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 1.24  Soledad Park (a portion of) West of Ardath Road and I-5; San Diego, CA 92037 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2.65  South Clairemont Park 3605 Clairemont Drive; San Diego, CA 92117-5941 Contact: Area Manager - (858) 581-9919	Number   NB NR   Manufacturer   Product Number   NB NR   Manufacturer   Product Number   Mission Helights Park   1716 Westinghouse Street; San Diego, CA 92111-7136   Contact: Area Manager - (858) 573-1407   Estimated Acres (Excluding undeveloped acres): 9.32	New Description   New	New Description		New Description   New

## **▶▶▶** HOMETEAM PEST DEFENSE, INC

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

Vendor ID: SUP 02709921

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

0.00

Section	3							
Item No.	Item Description	Stock Number NB NR Manufactu	rer Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Birdrock Elementary School Turf 1420 Felspar Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 0.93			1 EA	\$75.00	\$75.00	\$0.00	\$75.00
2	Cabrillo Elementary School Park 3051 Canon Street; San Diego, CA 92106-2611 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.16			1 EA	\$35.00	\$35.00	\$0.00	\$35.00
3	Cabrillo Park North 3232 Trumbull Street; San Diego, CA 92106-2421 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.21			1 EA	\$40.00	\$40.00	\$0.00	\$40.00
4	Cabrillo Park South 1032 Leroy Street; San Diego, CA 92106-2400 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.1			1 EA	\$35.00	\$35.00	\$0.00	\$35.00
5	Collier Park 2351 Soto Street; San Diego, CA 92107-1481 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 5.45			1 EA	\$45.00	\$45.00	\$0.00	\$45.00
6	Columbian Chapel 3963 Conde Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.25			1 EA	\$35.00	\$35.00	\$0.00	\$35.00
7	Crown Point Elementary School Turf 5373 La Jolla Hermosa Avenue, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 1.64			1 EA	\$75.00	\$75.00	\$0.00	\$75.00
8	Dana Middle School 1775 Chatsworth Avenue; San Diego, CA 92107-3709 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.66			1 EA	\$75.00	\$75.00	\$0.00	\$75.00
9	El Campo Santo Park 2410 San Diego Avenue; San Diego, CA 92110-2836 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.27			1 EA	\$75.00	\$75.00	\$0.00	\$75.00

## **→→→** *HOMETEAM PEST DEFENSE, INC*

Days ARO:

N/A

Disc Terms - Days: 30

Disc Pct. (%):

Addendum:

N/ATT

Vendor ID: SUP 02709921

Opt To Renew Pct. (%): N/A

0.00

	Total IB.				Opt 10 Honour 1 of (70). 1 1/11		D100 1 0t. (70).	0.00	rux rtuto r ot (70).	
Section 3	3									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
10	Gershwin Park 3508 Conrad Avenue; San Diego, CA 92117-1702 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.45					1 EA	\$75.00	\$75.00	\$0.00	\$75.00
11	Lindbergh Park 4141 Ashford Street; San Diego, CA 92111-3406 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 8					1 EA	\$75.00	\$75.00	\$0.00	\$75.00
12	Ocean Beach Elementary School 4741 Santa Monica Avenue; San Diego, CA 92107-2208 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.2					1 EA	\$75.00	\$75.00	\$0.00	\$75.00
13	Ocean Beach Park 4726 Santa Monica Avenue; San Diego, CA 92107-2209 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.14 Pacific Beach Elementary School Turf					1 EA	\$75.00	\$75.00	\$0.00	\$75.00
14	Estimated Acres (Excluding undeveloped acres): 1.14					1 EA	\$75.00	\$75.00	\$0.00	\$75.00
15	Plumosa Park Plumosa Drive/Chatsworth Boulevard Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.3					1 EA	\$75.00	\$75.00	\$0.00	\$75.00
16	Tweet Street Park 811 ½ Date Street; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 0.99					1 EA	\$75.00	\$75.00	\$0.00	\$75.00
17	Starkey Mini Park 6707 Draper Street; San Diego, CA Contact: Area Manager - 858-581-9716 Estimated Acres (Excluding undeveloped acres): 1.13					1 EA	\$75.00	\$75.00	\$0.00	\$75.00
						Sect	ion 3 Subtotals:	\$1,090.00	\$0.00	\$1,090.00

	HOMETEAM PEST DEFENSE, INC Vendor ID: SUP 02709921				Days ARO: $N/A$ Opt To Renew Pct. (%): $N/A$		Disc Terms - Days:	· 30 0.00	Addendum: Tax Rate Pct (%):	N/ATT 0
Section 4	4									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly rate for call-out service(s) bees excluding materials.  Response(s) to Other Requirement					25 HR	\$95.00	\$2,375.00	\$0.00	\$2,375.00
	► Minimum Hours: 1									
						Sect	on 4 Subtotals:	\$2,375.00	\$0.00	\$2,375.00
Section :	5									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly Rate for as needed services at facilities not listed – excluding materials.					75 HR	\$45.00	\$3,375.00	\$0.00	\$3,375.00
	Response(s) to Other Requirement									
	► Minimum Hours: 1									
						Sect	on 5 Subtotals:	\$3,375.00	\$0.00	\$3,375.00
					Subtotals for I	HOMETEAM PEST D	EFENSE, INC:	\$39,360.00	\$0.00	\$39,360.00

Freight: \$0.00

\$0.00

Extraordinary Labor \_ 0 hours @ \$0.00/hour: \$0.00

Miscellaneous Charges:

Grand Total for HOMETEAM PEST DEFENSE, INC: \$39,360.00

Final Price (w/ Discount): \$39,360.00

Days ARO:

N/A

 $\ \, \text{Disc Terms - Days:} \quad 30 \\$ 

0.00

Addendum:

N/ATT

Vendor ID: KPC 01516301

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

Section 1	Item Description	Stock Number NB NR	Manufacturer Product N	ımber Quantity	Unit Price	Extension	Tax	Final
1	Alcott Elementary School-Park 4680 Hidalgo Avenue; San Diego, CA 92117-2503 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.93	Stock Number NB NR	manuacturer Froduct N	24 EA	\$149.50	\$3,588.00	\$0.00	\$3,588.00
2	Cabrillo Heights Park 8308 Hurlbut Street; San Diego, CA 92123 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 14.15			24 EA	\$166.75	\$4,002.00	\$0.00	\$4,002.00
3	Cadman Elementary School 4370 Kamloop Avenue; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 2.88			24 EA	\$86.25	\$2,070.00	\$0.00	\$2,070.00
4	Cadman Park 4280 Avati Drive; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.53			24 EA	\$132.25	\$3,174.00	\$0.00	\$3,174.00
5	Cliffridge Park 8311 Cliffridge Avenue; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 6.29			24 EA	\$115.00	\$2,760.00	\$0.00	\$2,760.00
6	Dusty Rhodes Neighborhood Park 2500 Sunset Cliffs Boulevard; San Diego, CA 92107 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 19.19			24 EA	\$189.75	\$4,554.00	\$0.00	\$4,554.00
7	East Clairemont Athletic Area 3451 Mount Acadia Boulevard; San Diego, CA 92111-4504 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.7			24 EA	\$132.25	\$3,174.00	\$0.00	\$3,174.00
8	Fletcher School-Birdland Park 7666 Bobolink Way; San Diego, CA 92123-3701 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.4			24 EA	\$115.00	\$2,760.00	\$0.00	\$2,760.00
9	Kate Sessions Park 5115 Soledad Road; San Diego, CA 92109 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 19.05			24 EA	\$253.00	\$6,072.00	\$0.00	\$6,072.00

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

Vendor ID: KPC 01516301

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

0.00

Section										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
10	Kearny Mesa Park 3170 Armstrong Street; San Diego, CA 92111-5703 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 37					24 EA	\$345.00	\$8,280.00	\$0.00	\$8,280.00
11	Linda Vista Park (includes Osler Field) 7064 Levant Street; San Diego, CA 92111-6011 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 13					24 EA	\$166.75	\$4,002.00	\$0.00	\$4,002.00
12	Mission Bay Youth Fields (Bob McEvoy Fields) 2639 Grand Avenue; San Diego, CA 92109-4859 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 11.47					24 EA	\$155.25	\$3,726.00	\$0.00	\$3,726.00
13	Mount Acadia Park 3865 Mount Acadia Boulevard San Diego, CA 92111-2612 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.48					24 EA	\$143.75	\$3,450.00	\$0.00	\$3,450.00
14	Mount Etna Park 4741 Mount Etna Drive; San Diego, CA 92117-3943 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.18					24 EA	\$138.00	\$3,312.00	\$0.00	\$3,312.00
15	NTC Park 2405 Cushing Road; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 46					24 EA	\$327.75	\$7,866.00	\$0.00	\$7,866.00
16	Ocean Beach Athletic Area (Robb Field) 2525 Bacon Street; San Diego, CA 92107-1306 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 95.06					24 EA	\$575.00	\$13,800.00	\$0.00	\$13,800.00
17	Presidio Park 2811 Jackson Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 12.71					24 EA	\$172.50	\$4,140.00	\$0.00	\$4,140.00
18	Serra Mesa Park 9020 Village Glen Drive; San Diego, CA 92123-2420 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.04					24 EA	\$132.25	\$3,174.00	\$0.00	\$3,174.00

#### KNOTT'S PEST CONTROL INC N/A Disc Terms - Days: 30 N/ATT Days ARO: Addendum: KPC 01516301 Opt To Renew Pct. (%): N/A 0.00 Tax Rate Pct (%): 0 Vendor ID: Disc Pct. (%): Section 1 Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final 24 EA \$0.00 19 Tecolote Park \$201.25 \$4,830.00 \$4,830.00 4675 Tecolote Road; San Diego, CA 92110-1564 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 19.78 20 Western Hills Park 24 EA \$172.50 \$4,140.00 \$0.00 \$4,140.00 4810 Kane Street; San Diego, CA 92110-2347 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 12.77 21 Capehart Dog Park 24 EA \$86.25 \$2,070.00 \$0.00 \$2,070.00 4700 Soledad Mountain Road; San Diego, CA 92109 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2 \$0.00 \$94,944.00 \$94,944.00 Section 1 Subtotals: **Section 2** Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final Bayview Terrace Elementary School Park \$143.75 \$0.00 \$1,725.00 12 EA \$1,725.00 2445 Fogg Street; San Diego, CA 92109-4855 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 5.6 2 Benito Juarez Elementary School 12 EA \$143.75 \$1,725.00 \$0.00 \$1,725.00 2633 Melbourne Drive, San Diego, CA 92123-3535 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5.2 Bill Cleator Park 12 EA \$189.75 \$2,277.00 \$0.00 \$2,277.00 2312 Famosa Boulevard; San Diego, CA Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 17.35 Kelly Street Park 12 EA \$115.00 \$1,380.00 \$0.00 \$1,380.00 6640 Kelly Street; San Diego, CA 92111-6524 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5 MacDowell Park 12 EA \$86.25 \$0.00 \$1.035.00 \$1.035.00 5183 Arvinels Avenue; San Diego, CA 92117-2305 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 3.21

Days ARO:

N/A

Disc Terms - Days: 30

0.00

Addendum:

N/ATT

Vendor ID: KPC 01516301

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

	venuori ib. Kir C 01310301				Opt to Reflew Pct. (%). 14/11		Disc Fct. (78).	0.00	Tax Nate FCt (76).	
Section										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
6	Mission Heights Park 1716 Westinghouse Street; San Diego, CA 92111-7136 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 9.32					12 EA	\$132.25	\$1,587.00	\$0.00	\$1,587.00
7	Murray Ridge Park 8651 Celestine Avenue; San Diego, CA 92123-3432 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 11.09					12 EA	\$155.25	\$1,863.00	\$0.00	\$1,863.00
8	North Clairemont Community Park 4421 Bannock Avenue; San Diego, CA 92117-2835 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.79					12 EA	\$138.00	\$1,656.00	\$0.00	\$1,656.00
9	Olive Grove Park 6075 Printwood Street; San Diego, CA 92117 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.2					12 EA	\$138.00	\$1,656.00	\$0.00	\$1,656.00
10	Point Loma Park 1049 Catalina Boulevard; San Diego, CA 92107-4101 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.79					12 EA	\$143.75	\$1,725.00	\$0.00	\$1,725.00
11	Silver Terrace Park 5500 Friars Road; San Diego, CA 92110 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 1.24					12 EA	\$74.75	\$897.00	\$0.00	\$897.00
12	Soledad Park (a portion of) West of Ardath Road and I-5; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2.65					12 EA	\$86.25	\$1,035.00	\$0.00	\$1,035.00
13	South Clairemont Park 3605 Clairemont Drive; San Diego, CA 92117-5941 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.7					12 EA	\$143.75	\$1,725.00	\$0.00	\$1,725.00
						Sect	ion 2 Subtotals:	\$20,286.00	\$0.00	\$20,286.00

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

Vendor ID: KPC 01516301

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

0.00

					<u> </u>					
Section	3									
Item No.	Item Description	Stock Number NE	NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Birdrock Elementary School Turf 1420 Felspar Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 0.93					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
2	Cabrillo Elementary School Park 3051 Canon Street; San Diego, CA 92106-2611 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.16					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
3	Cabrillo Park North 3232 Trumbull Street; San Diego, CA 92106-2421 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.21					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
4	Cabrillo Park South 1032 Leroy Street; San Diego, CA 92106-2400 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.1					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
5	Collier Park 2351 Soto Street; San Diego, CA 92107-1481 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 5.45					1 EA	\$115.00	\$115.00	\$0.00	\$115.00
6	Columbian Chapel 3963 Conde Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.25					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
7	Crown Point Elementary School Turf 5373 La Jolla Hermosa Avenue, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 1.64					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
8	Dana Middle School 1775 Chatsworth Avenue; San Diego, CA 92107-3709 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.66					1 EA	\$143.75	\$143.75	\$0.00	\$143.75
9	El Campo Santo Park 2410 San Diego Avenue; San Diego, CA 92110-2836 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.27					1 EA	\$86.25	\$86.25	\$0.00	\$86.25

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

Vender ID: KPC 01516301

	Vendor ID: KPC 01516301				Opt To Renew Pct. (%): N/A		Disc Pct. (%):	0.00	Tax Rate Pct (%): 0	
Section	3									
Item No.	Item Description	Stock Number NB	NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
10	Gershwin Park 3508 Conrad Avenue; San Diego, CA 92117-1702 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.45					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
11	Lindbergh Park 4141 Ashford Street; San Diego, CA 92111-3406 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 8					1 EA	\$115.00	\$115.00	\$0.00	\$115.00
12	Ocean Beach Elementary School 4741 Santa Monica Avenue; San Diego, CA 92107-2208 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.2					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
13	Ocean Beach Park 4726 Santa Monica Avenue; San Diego, CA 92107-2209 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.14					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
14	Contact: Area Manager - (619) 531-1528					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
15	Contact: Area Manager - (858) 581-9716					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
16	Estimated Acres (Excluding undeveloped acres): 1.3  Tweet Street Park 811 ½ Date Street; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 0.99					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
17	Starkey Mini Park 6707 Draper Street; San Diego, CA Contact: Area Manager - 858-581-9716 Estimated Acres (Excluding undeveloped acres): 1.13					1 EA	\$86.25	\$86.25	\$0.00	\$86.25
						Sec	tion 3 Subtotals:	\$1,581.25	\$0.00	\$1,581.25

	KNOTT'S PEST CONTROL INC Vendor ID: KPC 01516301				Days ARO: $N/A$ Opt To Renew Pct. (%): $N/A$		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/ATT 0
Section	4									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Hourly rate for call-out service(s) bees excluding materials.  Response(s) to Other Requirement  ► Minimum Hours: NN					25 HR	\$150.00	\$3,750.00	\$0.00	\$3,750.00
Section	5					Sect	ion 4 Subtotals:	\$3,750.00	\$0.00	\$3,750.00
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly Rate for as needed services at facilities not listed – excluding materials.					75 HR	\$95.00	\$7,125.00	\$0.00	\$7,125.00
	Response(s) to Other Requirement									
	► Minimum Hours: NN									
						Sect	ion 5 Subtotals:	\$7,125.00	\$0.00	\$7,125.00
					Subtotals fo	or KNOTT'S PEST (	CONTROL INC:	\$127,686.25	\$0.00	\$127,686.25

> Miscellaneous Charges: \$0.00

Freight: \$0.00

Extraordinary Labor \_ 0 hours @ \$0.00/hour: \$0.00

\$127,686.25 **Grand Total for KNOTT'S PEST CONTROL INC:** 

> \$127,686.25 Final Price (w/ Discount):

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

Vendor ID: TEMP-PAN AME

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

0.00

Section 1 Item No.	Item Description	Stock Number NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Alcott Elementary School-Park 4680 Hidalgo Avenue; San Diego, CA 92117-2503 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.93		manuracturer	Froduct Number	24 EA	\$96.00	\$2,304.00	\$0.00	\$2,304.00
2	Cabrillo Heights Park 8308 Hurlbut Street; San Diego, CA 92123 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 14.15				24 EA	\$128.00	\$3,072.00	\$0.00	\$3,072.00
3	Cadman Elementary School 4370 Kamloop Avenue; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 2.88				24 EA	\$75.00	\$1,800.00	\$0.00	\$1,800.00
4	Cadman Park 4280 Avati Drive; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.53				24 EA	\$84.00	\$2,016.00	\$0.00	\$2,016.00
5	Cliffridge Park 8311 Cliffridge Avenue; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 6.29				24 EA	\$90.00	\$2,160.00	\$0.00	\$2,160.00
6	Dusty Rhodes Neighborhood Park 2500 Sunset Cliffs Boulevard; San Diego, CA 92107 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 19.19				24 EA	\$158.00	\$3,792.00	\$0.00	\$3,792.00
7	East Clairemont Athletic Area 3451 Mount Acadia Boulevard; San Diego, CA 92111-4504 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.7				24 EA	\$98.00	\$2,352.00	\$0.00	\$2,352.00
8	Fletcher School-Birdland Park 7666 Bobolink Way; San Diego, CA 92123-3701 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.4				24 EA	\$92.00	\$2,208.00	\$0.00	\$2,208.00
9	Kate Sessions Park 5115 Soledad Road; San Diego, CA 92109 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 19.05				24 EA	\$158.00	\$3,792.00	\$0.00	\$3,792.00

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

Vendor ID: TEMP-PAN AME

Opt To Renew Pct. (%): N/A

Disc Pct. (%): 0.00

		Opt To Reliew Fet. (70). 1771		D130 1 01. (70).		Tax Nate 1 of (70).	
1							
Item Description	Stock Number NB NR Manufactu	rer Product Number	Quantity	Unit Price	Extension	Tax	Final
Kearny Mesa Park 3170 Armstrong Street; San Diego, CA 92111-5703 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 37			24 EA	\$226.00	\$5,424.00	\$0.00	\$5,424.00
Linda Vista Park (includes Osler Field) 7064 Levant Street; San Diego, CA 92111-6011 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 13			24 EA	\$164.00	\$3,936.00	\$0.00	\$3,936.00
Mission Bay Youth Fields (Bob McEvoy Fields) 2639 Grand Avenue; San Diego, CA 92109-4859 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 11.47			24 EA	\$111.00	\$2,664.00	\$0.00	\$2,664.00
Mount Acadia Park 3865 Mount Acadia Boulevard San Diego, CA 92111-2612 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.48			24 EA	\$92.00	\$2,208.00	\$0.00	\$2,208.00
Mount Etna Park 4741 Mount Etna Drive; San Diego, CA 92117-3943 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.18			24 EA	\$90.00	\$2,160.00	\$0.00	\$2,160.00
NTC Park 2405 Cushing Road; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 46			24 EA	\$338.00	\$8,112.00	\$0.00	\$8,112.00
Ocean Beach Athletic Area (Robb Field) 2525 Bacon Street; San Diego, CA 92107-1306 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 95.06			24 EA	\$540.00	\$12,960.00	\$0.00	\$12,960.00
Presidio Park 2811 Jackson Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 12.71			24 EA	\$162.00	\$3,888.00	\$0.00	\$3,888.00
Serra Mesa Park 9020 Village Glen Drive; San Diego, CA 92123-2420 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.04			24 EA	\$90.00	\$2,160.00	\$0.00	\$2,160.00
	Kearny Mesa Park 3170 Armstrong Street; San Diego, CA 92111-5703 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 37  Linda Vista Park (includes Osler Field) 7064 Levant Street; San Diego, CA 92111-6011 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 13  Mission Bay Youth Fields (Bob McEvoy Fields) 2639 Grand Avenue; San Diego, CA 92109-4859 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 11.47  Mount Acadia Park 3865 Mount Acadia Boulevard San Diego, CA 92111-2612 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.48  Mount Etna Park 4741 Mount Etna Drive; San Diego, CA 92117-3943 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.18  NTC Park 2405 Cushing Road; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 46  Ocean Beach Athletic Area (Robb Field) 2525 Bacon Street; San Diego, CA 92107-1306 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 95.06  Presidio Park 2811 Jackson Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 12.71  Serra Mesa Park 9020 Village Glen Drive; San Diego, CA 92123-2420 Contact: Area Manager - (858) 573-1407	Kearny Mesa Park   3170 Armstrong Street; San Diego, CA 92111-5703   Contact: Area Manager - (858) 573-1407   Estimated Acres (Excluding undeveloped acres): 37   Contact: Area Manager - (858) 573-1407   Estimated Acres (Excluding undeveloped acres): 37   Contact: Area Manager - (858) 573-1407   Contact: Area Manager - (858) 581-9716   Estimated Acres (Excluding undeveloped acres): 13   Contact: Area Manager - (858) 581-9716   Contact: Area Manager - (858) 581-9919   Contact: Grounds Maintenance Manager - (619) 871-1863   Contact: Grounds Maintenance Manager - (619) 871-1868   Contact: Grou	Team Description	New Description	New   New		No.   No.

#### PAN AMERICAN PEST CONTROL COMP N/A Disc Terms - Days: 30 N/ATT Days ARO: Addendum: TEMP-PAN AME Opt To Renew Pct. (%): N/A 0.00 Tax Rate Pct (%): 0 Vendor ID: Disc Pct. (%): Section 1 Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final 19 Tecolote Park 24 EA \$158.00 \$3,792.00 \$0.00 \$3,792.00 4675 Tecolote Road; San Diego, CA 92110-1564 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 19.78 20 Western Hills Park 24 EA \$112.00 \$2,688.00 \$0.00 \$2,688.00 4810 Kane Street; San Diego, CA 92110-2347 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 12.77 21 Capehart Dog Park 24 EA \$49.00 \$1,176.00 \$0.00 \$1,176.00 4700 Soledad Mountain Road; San Diego, CA 92109 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2 \$0.00 \$74,664.00 \$74,664.00 Section 1 Subtotals: **Section 2** Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final Bayview Terrace Elementary School Park 12 EA \$86.00 \$0.00 \$1,032.00 \$1,032.00 2445 Fogg Street; San Diego, CA 92109-4855 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 5.6 2 Benito Juarez Elementary School 12 EA \$84.00 \$1,008.00 \$0.00 \$1,008.00 2633 Melbourne Drive, San Diego, CA 92123-3535 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5.2 Bill Cleator Park 12 EA \$150.00 \$1,800.00 \$0.00 \$1,800.00 2312 Famosa Boulevard; San Diego, CA Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 17.35 Kelly Street Park 12 EA \$88.00 \$1,056.00 \$0.00 \$1,056.00 6640 Kelly Street; San Diego, CA 92111-6524 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5 MacDowell Park 12 EA \$75.00 \$900.00 \$0.00 \$900.00 5183 Arvinels Avenue; San Diego, CA 92117-2305 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 3.21

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

Vendor ID: TEMP-PAN AME

Opt To Renew Pct. (%): N/A

Disc Pct. (%): 0.00

					pt 10 1011011 011 (70). 1 711		D100 1 0t. (70).		Tux reaco For (70).	
Section										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
6	Mission Heights Park 1716 Westinghouse Street; San Diego, CA 92111-7136 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 9.32					12 EA	\$86.00	\$1,032.00	\$0.00	\$1,032.00
7	Murray Ridge Park 8651 Celestine Avenue; San Diego, CA 92123-3432 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 11.09					12 EA	\$90.00	\$1,080.00	\$0.00	\$1,080.00
8	North Clairemont Community Park 4421 Bannock Avenue; San Diego, CA 92117-2835 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.79					12 EA	\$88.00	\$1,056.00	\$0.00	\$1,056.00
9	Olive Grove Park 6075 Printwood Street; San Diego, CA 92117 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.2					12 EA	\$92.00	\$1,104.00	\$0.00	\$1,104.00
10	Point Loma Park 1049 Catalina Boulevard; San Diego, CA 92107-4101 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.79					12 EA	\$96.00	\$1,152.00	\$0.00	\$1,152.00
11	Silver Terrace Park 5500 Friars Road; San Diego, CA 92110 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 1.24					12 EA	\$43.00	\$516.00	\$0.00	\$516.00
12	Soledad Park (a portion of) West of Ardath Road and I-5; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2.65					12 EA	\$52.00	\$624.00	\$0.00	\$624.00
13	South Clairemont Park 3605 Clairemont Drive; San Diego, CA 92117-5941 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.7					12 EA	\$96.00	\$1,152.00	\$0.00	\$1,152.00
						Section	on 2 Subtotals:	\$13,512.00	\$0.00	\$13,512.00

Days ARO:

N/A

Disc Terms - Days: 30

0.00

Addendum:

N/ATT

Vendor ID: TEMP-PAN AME

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

Section (								
Item No.	Item Description	Stock Number NB NR Ma	nufacturer Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Birdrock Elementary School Turf 1420 Felspar Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 0.93			1 EA	\$176.00	\$176.00	\$0.00	\$176.00
2	Cabrillo Elementary School Park 3051 Canon Street; San Diego, CA 92106-2611 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.16			1 EA	\$180.00	\$180.00	\$0.00	\$180.00
3	Cabrillo Park North 3232 Trumbull Street; San Diego, CA 92106-2421 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.21			1 EA	\$107.00	\$107.00	\$0.00	\$107.00
4	Cabrillo Park South 1032 Leroy Street; San Diego, CA 92106-2400 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.1			1 EA	\$43.00	\$43.00	\$0.00	\$43.00
5	Collier Park 2351 Soto Street; San Diego, CA 92107-1481 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 5.45			1 EA	\$226.00	\$226.00	\$0.00	\$226.00
6	Columbian Chapel 3963 Conde Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.25			1 EA	\$59.00	\$59.00	\$0.00	\$59.00
7	Crown Point Elementary School Turf 5373 La Jolla Hermosa Avenue, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 1.64			1 EA	\$126.00	\$126.00	\$0.00	\$126.00
8	Dana Middle School 1775 Chatsworth Avenue; San Diego, CA 92107-3709 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.66			1 EA	\$248.00	\$248.00	\$0.00	\$248.00
9	El Campo Santo Park 2410 San Diego Avenue; San Diego, CA 92110-2836 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.27			1 EA	\$84.00	\$84.00	\$0.00	\$84.00

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

Vendor ID: TEMP-PAN AME

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

0.00

'	Vendoriu: TEIVIF-FAIN AIVIE				Opt To Renew Pct. (%): TV/A		DISC Pct. (%):	0.00	Tax Rate Pct (%): U	
Section	3									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
10	Gershwin Park 3508 Conrad Avenue; San Diego, CA 92117-1702 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.45					1 EA	\$176.00	\$176.00	\$0.00	\$176.00
11	Lindbergh Park 4141 Ashford Street; San Diego, CA 92111-3406 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 8					1 EA	\$238.00	\$238.00	\$0.00	\$238.00
12	Ocean Beach Elementary School 4741 Santa Monica Avenue; San Diego, CA 92107-2208 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.2					1 EA	\$74.00	\$74.00	\$0.00	\$74.00
13	Ocean Beach Park 4726 Santa Monica Avenue; San Diego, CA 92107-2209 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.14					1 EA	\$116.00	\$116.00	\$0.00	\$116.00
14	Pacific Beach Elementary School Turf 4033 Ingraham Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2					1 EA	\$128.00	\$128.00	\$0.00	\$128.00
15	Plumosa Park Plumosa Drive/Chatsworth Boulevard Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.3					1 EA	\$96.00	\$96.00	\$0.00	\$96.00
16	Tweet Street Park 811 ½ Date Street; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 0.99					1 EA	\$82.00	\$82.00	\$0.00	\$82.00
17	Starkey Mini Park 6707 Draper Street; San Diego, CA Contact: Area Manager - 858-581-9716 Estimated Acres (Excluding undeveloped acres): 1.13					1 EA	\$94.00	\$94.00	\$0.00	\$94.00
						Sect	tion 3 Subtotals:	\$2,253.00	\$0.00	\$2,253.00

	PAN AMERICAN PEST CONTROL COMP  'endor ID: TEMP-PAN AME				Days ARO: $N/A$ Opt To Renew Pct. (%): $N/A$		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/ATT 0
Section 4	ı									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly rate for call-out service(s) bees excluding materials.  Response(s) to Other Requirement					25 HR	\$76.00	\$1,900.00	\$0.00	\$1,900.00
	► Minimum Hours: 1									
						Sect	tion 4 Subtotals:	\$1,900.00	\$0.00	\$1,900.00
Section 5	5									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly Rate for as needed services at facilities not listed – excluding materials.					75 HR	\$76.00	\$5,700.00	\$0.00	\$5,700.00
	Response(s) to Other Requirement									
	▶ Minimum Hours: 1									
						Sect	tion 5 Subtotals:	\$5,700.00	\$0.00	\$5,700.00
					Cubtatala fan DANI AN			¢00,020,00	<b>\$0.00</b>	¢00 000 00

Subtotals for PAN AMERICAN PEST CONTROL COMP: \$98,029.00 \$0.00 \$98,029.00

Miscellaneous Charges: \$0.00

Freight: \$0.00

Extraordinary Labor \_ 0 hours @ \$0.00/hour: \$0.00

Grand Total for PAN AMERICAN PEST CONTROL COMP: \$98,029.00

Final Price (w/ Discount): \$98,029.00

### **▶▶▶** PESTMASTER SERVICES INC

Days ARO:

N/A

Disc Terms - Days: 30

0.00

Addendum:

N/ATT

Vendor ID: PES 05004890

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

Section	1								
Item No.	Item Description	Stock Number NB NF	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Alcott Elementary School-Park 4680 Hidalgo Avenue; San Diego, CA 92117-2503 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.93				24 EA	\$32.00	\$768.00	\$0.00	\$768.00
2	Cabrillo Heights Park 8308 Hurlbut Street; San Diego, CA 92123 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 14.15				24 EA	\$32.00	\$768.00	\$0.00	\$768.00
3	Cadman Elementary School 4370 Kamloop Avenue; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 2.88				24 EA	\$32.00	\$768.00	\$0.00	\$768.00
4	Cadman Park 4280 Avati Drive; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.53				24 EA	\$32.00	\$768.00	\$0.00	\$768.00
5	Cliffridge Park 8311 Cliffridge Avenue; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 6.29				24 EA	\$32.00	\$768.00	\$0.00	\$768.00
6	Dusty Rhodes Neighborhood Park 2500 Sunset Cliffs Boulevard; San Diego, CA 92107 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 19.19				24 EA	\$71.00	\$1,704.00	\$0.00	\$1,704.00
7	East Clairemont Athletic Area 3451 Mount Acadia Boulevard; San Diego, CA 92111-4504 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.7				24 EA	\$37.50	\$900.00	\$0.00	\$900.00
8	Fletcher School-Birdland Park 7666 Bobolink Way; San Diego, CA 92123-3701 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.4				24 EA	\$27.00	\$648.00	\$0.00	\$648.00
9	Kate Sessions Park 5115 Soledad Road; San Diego, CA 92109 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 19.05				24 EA	\$43.00	\$1,032.00	\$0.00	\$1,032.00

Days ARO:

N/A

Disc Terms - Days: 30

0.00

Addendum:

N/ATT

Vendor ID: PES 05004890

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

Section	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
10	Kearny Mesa Park 3170 Armstrong Street; San Diego, CA 92111-5703 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 37					24 EA	\$46.00	\$1,104.00	\$0.00	\$1,104.00
11	Linda Vista Park (includes Osler Field) 7064 Levant Street; San Diego, CA 92111-6011 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 13					24 EA	\$46.00	\$1,104.00	\$0.00	\$1,104.00
12	Mission Bay Youth Fields (Bob McEvoy Fields) 2639 Grand Avenue; San Diego, CA 92109-4859 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 11.47					24 EA	\$32.00	\$768.00	\$0.00	\$768.00
13	Mount Acadia Park 3865 Mount Acadia Boulevard San Diego, CA 92111-2612 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.48					24 EA	\$32.00	\$768.00	\$0.00	\$768.00
14	Mount Etna Park 4741 Mount Etna Drive; San Diego, CA 92117-3943 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.18					24 EA	\$32.00	\$768.00	\$0.00	\$768.00
15	NTC Park 2405 Cushing Road; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 46					24 EA	\$80.00	\$1,920.00	\$0.00	\$1,920.00
16	Ocean Beach Athletic Area (Robb Field) 2525 Bacon Street; San Diego, CA 92107-1306 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 95.06					24 EA	\$71.00	\$1,704.00	\$0.00	\$1,704.00
17	Presidio Park 2811 Jackson Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 12.71					24 EA	\$27.00	\$648.00	\$0.00	\$648.00
18	Serra Mesa Park 9020 Village Glen Drive; San Diego, CA 92123-2420 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.04					24 EA	\$43.00	\$1,032.00	\$0.00	\$1,032.00

#### PESTMASTER SERVICES INC N/A Disc Terms - Days: 30 N/ATT Days ARO: Addendum: PES 05004890 Opt To Renew Pct. (%): N/A 0.00 Tax Rate Pct (%): 0 Vendor ID: Disc Pct. (%): Section 1 Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final 24 EA \$57.50 19 Tecolote Park \$1,380.00 \$0.00 \$1,380.00 4675 Tecolote Road; San Diego, CA 92110-1564 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 19.78 20 Western Hills Park 24 EA \$32.00 \$768.00 \$0.00 \$768.00 4810 Kane Street; San Diego, CA 92110-2347 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 12.77 21 Capehart Dog Park 24 EA \$42.50 \$1,020.00 \$0.00 \$1,020.00 4700 Soledad Mountain Road; San Diego, CA 92109 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2 \$0.00 \$21,108.00 \$21,108.00 Section 1 Subtotals: **Section 2** Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final Bayview Terrace Elementary School Park 12 EA \$27.00 \$324.00 \$0.00 \$324.00 2445 Fogg Street; San Diego, CA 92109-4855 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 5.6 2 Benito Juarez Elementary School 12 EA \$27.00 \$324.00 \$0.00 \$324.00 2633 Melbourne Drive, San Diego, CA 92123-3535 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5.2 Bill Cleator Park 12 EA \$27.00 \$324.00 \$0.00 \$324.00 2312 Famosa Boulevard; San Diego, CA Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 17.35 Kelly Street Park 12 EA \$47.00 \$564.00 \$0.00 \$564.00 6640 Kelly Street; San Diego, CA 92111-6524 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5 MacDowell Park 12 EA \$27.00 \$324.00 \$0.00 \$324.00 5183 Arvinels Avenue; San Diego, CA 92117-2305 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 3.21

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

Vendor ID: PES 05004890

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

0.00

Section 2	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
6	Mission Heights Park 1716 Westinghouse Street; San Diego, CA 92111-7136 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 9.32					12 EA	\$27.00	\$324.00	\$0.00	\$324.00
7	Murray Ridge Park 8651 Celestine Avenue; San Diego, CA 92123-3432 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 11.09					12 EA	\$27.00	\$324.00	\$0.00	\$324.00
8	North Clairemont Community Park 4421 Bannock Avenue; San Diego, CA 92117-2835 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.79					12 EA	\$27.00	\$324.00	\$0.00	\$324.00
9	Olive Grove Park 6075 Printwood Street; San Diego, CA 92117 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.2					12 EA	\$27.00	\$324.00	\$0.00	\$324.00
10	Point Loma Park 1049 Catalina Boulevard; San Diego, CA 92107-4101 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.79					12 EA	\$27.00	\$324.00	\$0.00	\$324.00
11	Silver Terrace Park 5500 Friars Road; San Diego, CA 92110 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 1.24					12 EA	\$27.50	\$330.00	\$0.00	\$330.00
12	Soledad Park (a portion of) West of Ardath Road and I-5; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2.65					12 EA	\$27.00	\$324.00	\$0.00	\$324.00
13	South Clairemont Park 3605 Clairemont Drive; San Diego, CA 92117-5941 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.7					12 EA	\$27.00	\$324.00	\$0.00	\$324.00
						Section	n 2 Subtotals:	\$4,458.00	\$0.00	\$4,458.00

Days ARO:

N/A

Disc Terms - Days: 30

0.00

Addendum:

N/ATT

Vendor ID: PES 05004890

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

Section	3								
Item No.	Item Description	Stock Number NB	NR Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Birdrock Elementary School Turf 1420 Felspar Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 0.93				1 EA	\$25.00	\$25.00	\$0.00	\$25.00
2	Cabrillo Elementary School Park 3051 Canon Street; San Diego, CA 92106-2611 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.16				1 EA	\$25.00	\$25.00	\$0.00	\$25.00
3	Cabrillo Park North 3232 Trumbull Street; San Diego, CA 92106-2421 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.21				1 EA	\$25.00	\$25.00	\$0.00	\$25.00
4	Cabrillo Park South 1032 Leroy Street; San Diego, CA 92106-2400 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.1				1 EA	\$25.00	\$25.00	\$0.00	\$25.00
5	Collier Park 2351 Soto Street; San Diego, CA 92107-1481 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 5.45				1 EA	\$25.00	\$25.00	\$0.00	\$25.00
6	Columbian Chapel 3963 Conde Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.25				1 EA	\$25.00	\$25.00	\$0.00	\$25.00
7	Crown Point Elementary School Turf 5373 La Jolla Hermosa Avenue, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 1.64				1 EA	\$25.00	\$25.00	\$0.00	\$25.00
8	Dana Middle School 1775 Chatsworth Avenue; San Diego, CA 92107-3709 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.66				1 EA	\$25.00	\$25.00	\$0.00	\$25.00
9	El Campo Santo Park 2410 San Diego Avenue; San Diego, CA 92110-2836 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.27				1 EA	\$25.00	\$25.00	\$0.00	\$25.00

Days ARO:

N/A

Disc Terms - Days: 30

0.00

Addendum:

N/ATT

Vendor ID: PES 05004890

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

Section	3									
Item No.	Item Description	Stock Number N	B NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
10	Gershwin Park 3508 Conrad Avenue; San Diego, CA 92117-1702 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.45					1 EA	\$25.00	\$25.00	\$0.00	\$25.00
11	Lindbergh Park 4141 Ashford Street; San Diego, CA 92111-3406 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 8					1 EA	\$25.00	\$25.00	\$0.00	\$25.00
12	Ocean Beach Elementary School 4741 Santa Monica Avenue; San Diego, CA 92107-2208 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.2					1 EA	\$25.00	\$25.00	\$0.00	\$25.00
13	Ocean Beach Park 4726 Santa Monica Avenue; San Diego, CA 92107-2209 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.14					1 EA	\$25.00	\$25.00	\$0.00	\$25.00
14	Pacific Beach Elementary School Turf 4033 Ingraham Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2					1 EA	\$25.00	\$25.00	\$0.00	\$25.00
15	Plumosa Park Plumosa Drive/Chatsworth Boulevard Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.3					1 EA	\$25.00	\$25.00	\$0.00	\$25.00
16	Tweet Street Park 811 ½ Date Street; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 0.99					1 EA	\$25.00	\$25.00	\$0.00	\$25.00
17	Starkey Mini Park 6707 Draper Street; San Diego, CA Contact: Area Manager - 858-581-9716 Estimated Acres (Excluding undeveloped acres): 1.13					1 EA	\$27.00	\$27.00	\$0.00	\$27.00
-						Sectio	n 3 Subtotals:	\$427.00	\$0.00	\$427.00

	PESTMASTER SERVICES INC  Vendor ID: PES 05004890				Days ARO: $N/A$ Opt To Renew Pct. (%): $N/A$		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/ATT 0
Section	4									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly rate for call-out service(s) bees excluding materials.					25 HR	\$149.00	\$3,725.00	\$0.00	\$3,725.00
	Response(s) to Other Requirement  ▶ Minimum Hours: 1									
						Sect	ion 4 Subtotals:	\$3,725.00	\$0.00	\$3,725.00
Section	5									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly Rate for as needed services at facilities not listed – excluding materials.					75 HR	\$32.00	\$2,400.00	\$0.00	\$2,400.00
	Response(s) to Other Requirement									
	► Minimum Hours: 1									
						Sect	ion 5 Subtotals:	\$2,400.00	\$0.00	\$2,400.00
					Culptotala f	or DESTMASTED S	EDVICES INC.	¢22 119 00	00.00	\$22 11 <b>9</b> 00

Miscellaneous Charges:

\$32,118.00 \$32,118.00 **Subtotals for PESTMASTER SERVICES INC:** \$0.00

Freight: \$0.00

\$0.00

Extraordinary Labor \_ 0 hours @ \$0.00/hour: \$0.00

\$32,118.00 **Grand Total for PESTMASTER SERVICES INC:** 

> \$32,118.00 Final Price (w/ Discount):

# QUALITY COMMERCIAL PEST CONTROL

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

	Vendor ID: TEMP-QUALITY				Opt To Renew Pct. (%): N/A		Disc Pct. (%):	0.00	Tax Rate Pct (%): 0	
Section	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Alcott Elementary School-Park 4680 Hidalgo Avenue; San Diego, CA 92117-2503 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.93					24 EA	\$35.00	\$840.00	\$0.00	\$840.00
2	Cabrillo Heights Park 8308 Hurlbut Street; San Diego, CA 92123 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 14.15					24 EA	\$35.00	\$840.00	\$0.00	\$840.00
3	Cadman Elementary School 4370 Kamloop Avenue; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 2.88					24 EA	\$35.00	\$840.00	\$0.00	\$840.00
4	Cadman Park 4280 Avati Drive; San Diego, CA 92117-4409 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.53					24 EA	\$35.00	\$840.00	\$0.00	\$840.00
5	Cliffridge Park 8311 Cliffridge Avenue; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 6.29					24 EA	\$35.00	\$840.00	\$0.00	\$840.00
6	Dusty Rhodes Neighborhood Park 2500 Sunset Cliffs Boulevard; San Diego, CA 92107 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 19.19					24 EA	\$60.00	\$1,440.00	\$0.00	\$1,440.00
7	East Clairemont Athletic Area 3451 Mount Acadia Boulevard; San Diego, CA 92111-4504 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.7					24 EA	\$35.00	\$840.00	\$0.00	\$840.00
8	Fletcher School-Birdland Park 7666 Bobolink Way; San Diego, CA 92123-3701 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.4					24 EA	\$35.00	\$840.00	\$0.00	\$840.00
9	Kate Sessions Park 5115 Soledad Road; San Diego, CA 92109 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 19.05					24 EA	\$60.00	\$1,440.00	\$0.00	\$1,440.00
-										

# >>> QUALITY COMMERCIAL PEST CONTROL

Days ARO:

N/A

Disc Terms - Days: 30

0.00

Addendum:

N/ATT

Vendor ID: TEMP-QUALITY

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

Tax Rate Pct (%):  $\,0\,$ 

Section Item No.	Item Description	Stock Number	NR ND	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
10	Kearny Mesa Park 3170 Armstrong Street; San Diego, CA 92111-5703			Manufacturer	Froduct Number	24 EA	\$125.00	\$3,000.00	\$0.00	\$3,000.00
	Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 37									
11	Linda Vista Park (includes Osler Field) 7064 Levant Street; San Diego, CA 92111-6011 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 13					24 EA	\$35.00	\$840.00	\$0.00	\$840.00
12	Mission Bay Youth Fields (Bob McEvoy Fields) 2639 Grand Avenue; San Diego, CA 92109-4859 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 11.47					24 EA	\$35.00	\$840.00	\$0.00	\$840.00
13	Mount Acadia Park 3865 Mount Acadia Boulevard San Diego, CA 92111-2612 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.48					24 EA	\$35.00	\$840.00	\$0.00	\$840.00
14	Mount Etna Park 4741 Mount Etna Drive; San Diego, CA 92117-3943 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 7.18					24 EA	\$35.00	\$840.00	\$0.00	\$840.00
15	NTC Park 2405 Cushing Road; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 46					24 EA	\$125.00	\$3,000.00	\$0.00	\$3,000.00
16	Ocean Beach Athletic Area (Robb Field) 2525 Bacon Street; San Diego, CA 92107-1306 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 95.06					24 EA	\$125.00	\$3,000.00	\$0.00	\$3,000.00
17	Presidio Park 2811 Jackson Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 12.71					24 EA	\$35.00	\$840.00	\$0.00	\$840.00
18	Serra Mesa Park 9020 Village Glen Drive; San Diego, CA 92123-2420 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 7.04					24 EA	\$35.00	\$840.00	\$0.00	\$840.00

#### **QUALITY COMMERCIAL PEST CONTROL** N/A Disc Terms - Days: 30 N/ATT Days ARO: Addendum: **TEMP-QUALITY** Opt To Renew Pct. (%): N/A 0.00 Tax Rate Pct (%): 0 Vendor ID: Disc Pct. (%): Section 1 Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final 24 EA 19 Tecolote Park \$60.00 \$1,440.00 \$0.00 \$1,440.00 4675 Tecolote Road; San Diego, CA 92110-1564 Contact: Area Manager - (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 19.78 20 Western Hills Park 24 EA \$35.00 \$840.00 \$0.00 \$840.00 4810 Kane Street; San Diego, CA 92110-2347 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 12.77 21 Capehart Dog Park 24 EA \$35.00 \$840.00 \$0.00 \$840.00 4700 Soledad Mountain Road; San Diego, CA 92109 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2 \$0.00 \$25,920.00 \$25,920.00 Section 1 Subtotals: **Section 2** Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final Bayview Terrace Elementary School Park \$35.00 \$420.00 \$0.00 \$420.00 12 EA 2445 Fogg Street; San Diego, CA 92109-4855 Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 5.6 2 Benito Juarez Elementary School 12 EA \$35.00 \$420.00 \$0.00 \$420.00 2633 Melbourne Drive, San Diego, CA 92123-3535 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5.2 Bill Cleator Park 12 EA \$60.00 \$720.00 \$0.00 \$720.00 2312 Famosa Boulevard; San Diego, CA Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 17.35 Kelly Street Park 12 EA \$35.00 \$420.00 \$0.00 \$420.00 6640 Kelly Street; San Diego, CA 92111-6524 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 5 MacDowell Park 12 EA \$35.00 \$420.00 \$0.00 \$420.00 5183 Arvinels Avenue; San Diego, CA 92117-2305 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 3.21

# **▶▶▶** QUALITY COMMERCIAL PEST CONTROL

Days ARO:

N/A

Disc Terms - Days: 30

0.00

Addendum:

N/ATT

Vendor ID: TEMP-QUALITY

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

					Opt 10 Ronow 1 on (70). 1 711		D100 1 0t. (70).		rux rtuto r ot (70).	
Section	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
6	Mission Heights Park 1716 Westinghouse Street; San Diego, CA 92111-7136 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 9.32					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
7	Murray Ridge Park 8651 Celestine Avenue; San Diego, CA 92123-3432 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 11.09					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
8	North Clairemont Community Park 4421 Bannock Avenue; San Diego, CA 92117-2835 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 8.79					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
9	Olive Grove Park 6075 Printwood Street; San Diego, CA 92117 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.2					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
10	Point Loma Park 1049 Catalina Boulevard; San Diego, CA 92107-4101 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.79					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
11	Silver Terrace Park 5500 Friars Road; San Diego, CA 92110 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 1.24					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
12	Soledad Park (a portion of) West of Ardath Road and I-5; San Diego, CA 92037 Contact: Area Manager – (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2.65					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
13	South Clairemont Park 3605 Clairemont Drive; San Diego, CA 92117-5941 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 9.7					12 EA	\$35.00	\$420.00	\$0.00	\$420.00
						Sect	ion 2 Subtotals:	\$5,760.00	\$0.00	\$5,760.00

# QUALITY COMMERCIAL PEST CONTROL

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

,	Vendor ID: TEMP-QUALITY			Or	t To Renew Pct. (%): N/A		Disc Pct. (%):	0.00	Tax Rate Pct (%): 0	
Section				-,						
Item No.	Item Description	Stock Number N	IB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Birdrock Elementary School Turf 1420 Felspar Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 0.93	]				1 EA	\$35.00	\$35.00	\$0.00	\$35.00
2	Cabrillo Elementary School Park 3051 Canon Street; San Diego, CA 92106-2611 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.16					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
3	Cabrillo Park North 3232 Trumbull Street; San Diego, CA 92106-2421 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.21					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
4	Cabrillo Park South 1032 Leroy Street; San Diego, CA 92106-2400 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.1	[				1 EA	\$35.00	\$35.00	\$0.00	\$35.00
5	Collier Park 2351 Soto Street; San Diego, CA 92107-1481 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 5.45					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
6	Columbian Chapel 3963 Conde Street; San Diego, CA 92110-2748 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.25					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
7	Crown Point Elementary School Turf 5373 La Jolla Hermosa Avenue, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 1.64	[				1 EA	\$35.00	\$35.00	\$0.00	\$35.00
8	Dana Middle School 1775 Chatsworth Avenue; San Diego, CA 92107-3709 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 9.66	]				1 EA	\$35.00	\$35.00	\$0.00	\$35.00
9	El Campo Santo Park 2410 San Diego Avenue; San Diego, CA 92110-2836 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 0.27					1 EA	\$35.00	\$35.00	\$0.00	\$35.00

# >>> QUALITY COMMERCIAL PEST CONTROL

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

Vendor ID: TEMP-QUALITY

Opt To Renew Pct. (%): N/A

Disc Pct. (%): 0.00

Vehicol ID. TEMI QUALITI				Opt 10 Kenew Fct. (%). 14/11		Disc Fct. (70).	0.00	Tax Nate FCt (70).	
Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
Gershwin Park 3508 Conrad Avenue; San Diego, CA 92117-1702 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.45					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
Lindbergh Park 4141 Ashford Street; San Diego, CA 92111-3406 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 8					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
Ocean Beach Elementary School 4741 Santa Monica Avenue; San Diego, CA 92107-2208 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.2					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
Ocean Beach Park 4726 Santa Monica Avenue; San Diego, CA 92107-2209 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.14					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
Pacific Beach Elementary School Turf 4033 Ingraham Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
Plumosa Park Plumosa Drive/Chatsworth Boulevard Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.3					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
Tweet Street Park 811 ½ Date Street; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 0.99					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
Starkey Mini Park 6707 Draper Street; San Diego, CA Contact: Area Manager - 858-581-9716 Estimated Acres (Excluding undeveloped acres): 1.13					1 EA	\$35.00	\$35.00	\$0.00	\$35.00
					Sect	ion 3 Subtotals:	\$595.00	\$0.00	\$595.00
	Gershwin Park 3508 Conrad Avenue; San Diego, CA 92117-1702 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.45  Lindbergh Park 4141 Ashford Street; San Diego, CA 92111-3406 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 8  Ocean Beach Elementary School 4741 Santa Monica Avenue; San Diego, CA 92107-2208 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.2  Ocean Beach Park 4726 Santa Monica Avenue; San Diego, CA 92107-2209 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.14  Pacific Beach Elementary School Turf 4033 Ingraham Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2  Plumosa Park Plumosa Drive/Chatsworth Boulevard Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.3  Tweet Street Park 811 ½ Date Street; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 0.99  Starkey Mini Park 6707 Draper Street; San Diego, CA Contact: Area Manager - 858-581-9716	Gershwin Park 3508 Conrad Avenue; San Diego, CA 92117-1702 Contact: Area Manager – (858) 581-9919 Estimated Acres (Excluding undeveloped acres): 5.45  Lindbergh Park 4141 Ashford Street; San Diego, CA 92111-3406 Contact: Area Manager - (858) 573-1407 Estimated Acres (Excluding undeveloped acres): 8  Ocean Beach Elementary School 4741 Santa Monica Avenue; San Diego, CA 92107-2208 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.2  Ocean Beach Park 4726 Santa Monica Avenue; San Diego, CA 92107-2209 Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.14  Pacific Beach Elementary School Turf 4033 Ingraham Street, San Diego, CA Contact: Area Manager - (858) 581-9716 Estimated Acres (Excluding undeveloped acres): 2  Plumosa Park Plumosa Park Plumosa Drive/Chatsworth Boulevard Contact: Area Manager - (619) 531-1528 Estimated Acres (Excluding undeveloped acres): 1.3  Tweet Street Park 811 ½ Date Street; San Diego, CA 92101 Contact: Grounds Maintenance Manager - (619) 871-1863 Estimated Acres (Excluding undeveloped acres): 0.99  Starkey Mini Park 6707 Draper Street; San Diego, CA Contact: Area Manager - 858-581-9716	Item Description	Stock Number   NB NR   Manufacturer	Stock Number   NB NR   Manufacturer   Product Number   Gershwin Park   3508 Conrad Avenue; San Diego, CA 92117-1702   Contact: Area Manager - (858) 581-9919   Estimated Acres (Excluding undeveloped acres): 5.45	Stock Number   NB NR   Manufacturer   Product Number   Quantity	No.   No.	Item Description	Note   Name   Name

	QUALITY COMMERCIAL PEST CONTROL  Vendor ID: TEMP-QUALITY				Days ARO: $N/A$ Opt To Renew Pct. (%): $N/A$		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/ATT 0
Section 4	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly rate for call-out service(s) bees excluding materials.  Response(s) to Other Requirement					25 HR	\$125.00	\$3,125.00	\$0.00	\$3,125.00
	► Minimum Hours: 1.5									
						Secti	on 4 Subtotals:	\$3,125.00	\$0.00	\$3,125.00
Section 5	5									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly Rate for as needed services at facilities not listed – excluding materials.					75 HR	\$95.00	\$7,125.00	\$0.00	\$7,125.00
	Response(s) to Other Requirement									
	▶ Minimum Hours: 1									
						Secti	on 5 Subtotals:	\$7,125.00	\$0.00	\$7,125.00
					Subtatals for OUALITY (		CT CONTROL	\$42 525 00	00.00	\$42 525 00

\$42,525.00 **Subtotals for QUALITY COMMERCIAL PEST CONTROL:** \$42,525.00 \$0.00

> Miscellaneous Charges: \$0.00

> > Freight: \$0.00

\$0.00 Extraordinary Labor \_ 0 hours @ \$0.00/hour:

\$42,525.00 **Grand Total for QUALITY COMMERCIAL PEST CONTROL:** 

> \$42,525.00 Final Price (w/ Discount):